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Experimental Control Mean Difference Mean Difference

Study or Subgroup  Mean  SD Total Mean SD Total Weight IV, Fixed, 95% CI IV, Fixed, 95% CI

Hsuetetal, 2009 69 258 23 .78 204 22 742% 1470114, 28.28)

Lien-1 etal, 2012 27.3 461 24 145 B67 23 126% 12.80[F20.11,4571]

Lien-2 etal, 2012 106 428 24 145 667 23 132% -3.90[-36.09,28.29)

Total (95% CI) Al 68 100.0% 12.01[0.33, 23.69] “.‘

Heterogeneity: Chi= 1.00, df= 2 (P = 0.58); F= 0% ; 5:0 2 . ! 255 510

Testfor averall effect: Z= 2.02 (P = 0.04)

(a)

Favours [control] Favours{experimental]

Experimemal Control Mean Difference Mean Difference
Study or Subgroup _ Mean _ SD Total Mean SD Total Weight IV, Fixed, 95% ClI IV, Fixed, 95% Cl
Hsuet et al,, 2009 10 287 23 41 273 22 286% 5.90[10.46,2226 e
Lien-1 etal,, 2012 56 248 24 -07 276 23 340% B.30[872,2137 1T
Lien-2 etal,, 2012 59 22 24 -07 276 23 374% G6.60[7.71,2091) -
Total (95% CI) 71 68 100.0% 6.30[-2.46, 15.05] T.
Heterageneity: Chi#= 0.00, df= 2 (P =1.00); F= 0% 50 25 : 215 510

Testfor overall effect Z=1.41 (P=0.16)

(b)

Favours [control] Favours [experimental]

Mean Difference
IV, Fixed, 95% CI

Experimental Control Mean Difference
Study or Subgroup  Mean _ SD Total Mean SD Total Weight [V, Fixed, 95% Cl
Hsuetetal., 2009 -03 67 23 02 63 22 328% -050[-4.30,3.30)
Lien-1 etal,, 2012 0 724 11 BB 23 3% 1.10[2.79, 499
Lien-2 etal,, 2012 29 61 24 11 66 23 358% 4.00[0.36,7.64]
Total (95% Cl) 4 68 100.0% 1.61][-0.56,3.79]

Heterogeneity. Chif= 291, df=2 (P=0.23) F=31%
Testfor overall effect Z=1.45(P=0.15)

(©)

I

10 D 10 20
Favours [control] Favours[experimental]

Experimental Control Mean Difference Mean Difference
Study or Subgroup Mean SD Total Mean SD Total Weight [V, Fixed, 95% Cl IV, Fixed, 95% Ci
Hsuetetal, 2009 87 214 I3 -5 181 22 448% 1370(2.14,25126] =
Lien-1 etal, 2012 09 224 24 -26 293 23 268% 3.50[11.45,18.46] 1
Lien-2 etal, 2012 23 205 24 -26 293 23 28.4% 490}961,19.41] ——
Total (95% ClI) 4 68 100.0% 8.47[0.73, 16.21] >
iy = =3 (P= ‘R= t t t t
Heterogeneity: Chi*=1.44, df= 2 (P = 0.49), F= 0% 40 35 0 2% 20

Testfor overall effect Z=2.14 (P=0.03)

(d)

Favours [control] Favours [experimental]
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